Math 0090 Lab Worksheet #6

Objective: Solve problems #1 - #10 involving linear equations and their graphs. #11 through #15
are review problems.

Use the diagram below to answer the questions that follow.,
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1. What are the coordinates of the v-intercept of line AB on the graph above?
Al 0, -2)
B. -2, 0
C. (0, -3)
D. (0, 3)
2. What are the coordinates of the x-intercept of line AB on the graph above?
Al 0, -2)
B. (-2,0)
C. (0, -3)
D (0, 3)
3. Which of the following points is a solution to the equation of the line AB on the

graph above?

A, (-4,-3)
B. (-3,-4)
C. (-2,3)
D. (3,-2)
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